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0122 & 3=l 8,100 7,180 920
OOCIEDl - Al &0t X& =258 7
45,0002 %180 8,100
Al 4,050
T 4,050
Y ES AAl 3,018,360 3,217,708 A199,348
) 1,509,180
Al 754,590
T 754,590
307 glztol & 3,018,360 3,217,708 199,348
Jl 1,509,180




A AZ2e|nt
Hu: R0
Rl IS AY (SH &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
Al 754,590
- 754,590
01 9= ¥ 3l=t| 3,018,360 3,217,708 A 199,348
OO0glol HeEs 1,543,200
OWAIE| U ol HEAIHY)
1,543,200,000& 1,543,200
| 771,600
Al 385,800
= 385,800
OOZIO0IE U XS54 QIZ20IT} BE 298,340
OWAIL| Y WOl HEAIHY]
298,340,000& 298,340
| 149,170
Al 74,585
- 74,585
O1BMl LIERAT HLEE 33,060
OmAIE| U ol HEAIHY)
33,060,000 33,060
| 16,530
Al 8,265
= 8,265
OYAIR IZ20T} 2,540
O U WOl FZAIHY|
12,540,000 12,540
| 6,270
Al 3,13
- 3,135
Odol HLHE(UESRAUX}, HE A, DS
B2 MEFETREEYZ) 1,092,860
OuRAIH] & HolA HSAIHY|
1,092,860,000& 1,092,860
| 546,430
Al 273,215
- 273,215
OBE2HE =4HD] 2 ol At 3,860
OUILHE U AAH| K
3,860,000& 3,860
| 1,930
Al 965
- 965
OHV HIZRES 34,500
OuRAIH| & HolA HBSAIEY|
34,500,000 34,500
| 17,250
Al 8,625




SA A2l
Hu: R0
Rl JIEAHZAIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 8,625
HYBSSSHH =23 32,910 32,136 774
Jl 16,455
Al 8,228
- 8,227
101 @1A4H| 32,910 32,136 774
Jl 16,455
Al 8,228
- 8,227
MU IIRINZZENSES 32,910 32,136 774
OULEESSEMH 22 32,910
oJlzs 78,8802 x 120 «2H 18,932
Il 9,466
Al 4,733
- 4,733
ONM=¢ 7,978,000& 7,978
Il 3,989
Al 1,995
- 1,994
Ol 10,0002 x 12022 H 2,400
Jl 1,200
Al 600
- 600
CAUEE(OI2RES)
300,000 x2H 6 3,600
Il 1,800
Al 900
- 900
HYES NMAE 69,422 40,345 29,077
201 fet= 3| 6,422 6,900 NAT8
01 Al 22IH| 3,500 4,000 500
ONSEE HRE L OIS HE
3,500,000& 3,500
02 S5=24g4l 2,922 2,900 2
OUSEEAY 2 HEOH U oy Lo
2 1,400,000 1,400
OuAED B U 2214l
1,500,000& 1,500
OttA83 JIASHEE 22,0003 22
301 2eEN= 600 600
14 JIEt2 8= 600 600
OHgES Olaets A=
600,000 600
307 el2tol & 62,400 20,700 41,700




SA A2l
Hu: R0
Rl JEEAYAEY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0192 & =4l 62,400 20,700 41,700
ONES Maldl & S2d 85 61,400
OFoMHE IB2AT WA L Bl
St 30,0002 +1,800& 54,000
OBE2tE Al 5,800&*1,000 5,800
OFEIZA sialy| 8,0002!%150% 1,200
OMEEREHY WAl
8,000 +50& 400
OUYEE A28 U S3%AE
1,000,000 1,000
FHAANE HAZN HBES XA 54,840 0 54,840
Al 38,388
- 16,452
307 elztol & 54,840 0 54,840
Al 38,388
- 16,452
01 2g & 3=H| 54,840 0 54,840
OFHES N2 HBES 54,840
OUYEN HYES Al & A&y
120,000& *457H 54,840
Al 38,388
- 16,452
D2LHI SAIUEES 3,000 41,528 A38,528
201 Eer23 | 3,000 5,000 22,000
01 At2t2lt] 3,000 5,000 /2,000
ORIE=I2 o HE S HE, 2L
3,000,000 3,000
;:'_ELHQ HLEE dA(RIEAZI2 LSS Al 502,412 1,360,128 N\B57,716
Il 251,206
Al 125,603
- 125,603
307 el2to| & 502,412 1,360,128 N\B57,716
) 251,206
Al 125,603
T 125,603
019z & 3=l 502,412 1,360,128 A\857,716
ORIE2ZI|2 HSES Aldtl
502,412,000& 502,412
) 251,206
Al 125,603
T 125,603
A2 & ogXA 1,062,549 1,183,668 A131,119
= 34,577
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MEE
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104,005
74,168
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293,117
365,174
359,681
39,440
22,288
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Al

5,000
7,200
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8,727
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220
200
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550
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Ol

01 At22telbl

llx
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3

220,000
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200,000
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300, 000& *3H
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A AZ2e| Dt
Z: Folzine
ool Hpel W 92N (crel: g)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
ONAMSI| BiEel 2
300,000 & =124 300
OMASI| WXl & 130, 0002 »20H 260
Oflza ARE 7 440,000& 440
OfZX& %= 2 1,500,000& 1,500
405 KHHFSH| 5,060 25,070 220,010
01 ML =ZFSHI 5,060 25,070 220,010
O&IMZ AL ZAF | 2 5,060
OZAAISEZ AL 2,200,000& 2,200
O&ESZ A 2,860,000& 2,860
S22l 69,153 65,494 3,659
iy 34,577
Al 17,288
- 17,288
101 2124l 40,031 38,158 1,873
= 20,015
Al 10,008
- 10,008
M IIZINZ2 2 NS Es 40,031 38,158 1,873
Og a2 LUDI2EHZZX) 40,031
OJl12= 81,6603 *125 2 +2H 20,415
= 10,207
Al 5,104
- 5,104
OR=a8dsY 81,6603 x65 ! +2H 10,616
= 5,308
Al 2,654
- 2,654
ORI= R 50,0003 «6 & x2H 600
= 300
Al 150
- 150
O= 0yl 10,0003 * 1252 x2H 2,500
= 1,250
Al 625
- 625
O4UEE (0| 22E3)
300,000 +6& +2H 3,600
= 1,800
Al 900
- 900
OuW=0d| 250,000& *13]+2H 500
= 250




Y M Y

Z2te|t
QA2
Z2el & =X

SA - B ORI(B1) - HIRAY - BES A
Al 125
- 125
oul=t| 60,0003 *13|+2Y 120
s 60
Al 30
- 30
oJt=EY 140,0002 x6 & +2Z 1,680
= 840
Al 420
- 420
201 Ler2| 9,013 8,586 427
= 4,507
Al 2,253
- 2,253
01 ArR222lt| 9,013 8,586 427
OFZ2oE s S=H|
240,000 *2F *13] 480
= 240
Al 120
- 120
OYEARE 7Y 7,057,000& 7,057
= 3,529
Al 1,764
- 1,764
Onul=tl(32%) 60,0002 x3H*13] 180
= 0
Al 45
- 45
OustI(S32%) 240,000& *3H*13] 720
= 360
Al 180
- 180
OSZ2HA SAdl(32%) 576,000 576
iy 288
Al 144
- 144
202 04dl 5,070 4,350 720
iy 2,535
Al 1,268
- 1,267
01 =WOdbI 4,320 3,600 720
EX0HI(SRA) 120,000&*3H 122 4,320
s 2,160
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A AZ2e| Dt
Hu: F0I022e)
chel: Adzel L =X (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 540
- 540
02222 & HA 3,002
oY1 SUASH AIBE
25,000 »4CH*12& 1,200
Al 600
- 600
OEIEEPC AtEZ 25,0003 #4CH* 123 1,200
Al 600
- 600
oRERZ 4302*1,400S 602
Al 301
- 301
307 QIZ2t01 A 13,218 10,978 2,240
Al 6,609
- 6,609
01 9= 2 3l=H| 13,218 10,978 2,240
OUSUAT AQE 2
13,218,000& 13,218
Al 6,609
- 6,609
S|HEEA 2 ZHI KR ALY 227,200 430,828 A203,628
| 113,600
Al 56,800
- 56,800
307 QI2tol M 227,200 430,828 A203,628
J| 113,600
Al 56,800
- 56,800
05 QIZtRES 227,200 430,828 A203,628
Os|H&E&X o=Hl XA
227,200,000& 227,200
| 113,600
Al 56,800
- 56,800
=0t 2e| XIAHA K& 288,420 266,512 21,908
| 143,760
Al 71,880
- 72,780
101 eI24t| 12,171 12,000 171
| 6,085
Al 3,043
- 3,043
MU IIRHNZ2EXsEs 12,171 12,000 171




A AZ2e| Dt
Hu: F0I022e)
ol e & =X EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O=otgael elf 12,171
oJl2= 78,880& 80 x1H 6,311
J| 3,155
Al 1,578
- 1,578
OHM=¢ 3,860,000 *1H 3,860
J| 1,930
Al 965
- 965
O= 0l 10,0002 x80 1 800
| 400
Al 200
2 200
IV ELTBIEE =)
300,000 x4 & *x1H 1,200
J| 600
Al 300
- 300
201 B2 AY| 1,900 1,000 900
J| 500
Al 250
- 1,150
01 AtR2telt] 1,000 1,000 0
O3t 3% 22 H&
1,000 x15+1,000 1,000
| 500
Al 250
- 250
02 32| 900 0 900
OUEYBT WS La 2HR3
4502 *2,00024 900
307 212+01™ 274,349 253,512 20,837
| 137,175
Al 68,587
- 68,587
05 QIZIRIEr S 274,349 253,512 20,837
o=t Z&dl 274,349,000& 274,349
J| 137,175
Al 68,587
- 68,587
LA O SH| X3 (HBAIY) 216,403 180,092 36,311
Al 162,302
- 54,101
307 212+01™ 216,403 180,092 36,311




SA A2l
Hu: F0I022e)
chel: Adzel L =X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 162,302
T 54,101
0192 & 3=l 216,403 180,092 36,311
Ogetht 2l=4l XI& 216,403,000 216,403
Al 162,302
- 54,101
THOFLEHAE 22| AFS (M EALY) 4,392 0 4,392
Al 3,294
- 1,008
307 @12t0| & 4,392 0 4,392
Al 3,294
- 1,098
0122 & 2= 4,392 0 4,392
oMot ekt 2elE3t| 4,392,000 4,392
Al 3,294
T 1,098
Slexstsd At dEtF A K& 32,262 30,000 2,262
) 25,810
Al 3,226
T 3,226
307 212t01™ 32,262 30,000 2,262
Jl 25,810
Al 3,226
- 3,226
05 2ItRIE = 32,262 30,000 2,262
Oggt & Mo A2S |
32,262,000 32,262
Jl 25,810
Al 3,226
- 3,226
o2=20i=sd Nt SR0IZ Al X3 2,689 2,089 600
Il 2,151
Al 269
- 269
307 212+01& 2,689 2,089 600
7l 2,151
Al 269
- 269
05 git?(& = 2,689 2,089 600
Og=0t AZH &M K& 2,689,000 2,689
Jl 2,151
Al 269
- 269




SA A2l
Hu: F0I022e)
chel: Adzel L =X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IR0t 2 LS N 8,495 5,750 2,745
Jl 6,796
Al 850
- 849
307 212+01& 8,495 5,750 2,745
7l 6,7%
Al 850
- 849
012z € 2/=H] 8,495 5,750 2,745
Og R0t 2 LA A XIS
8,495,000& 8,495
7l 6,7%
Al 850
- 849
Slgg kit AFFAW & E2HI 1,250 1,250 0
Jl 1,000
Al 125
- 125
201 fer= 3| 1,250 1,250 0
Il 1,000
Al 125
- 125
01 AtR2t2|HI 1,250 1,250 0
Ofg=git 28 822 M
2,500 *500H 1,250
Il 1,000
Al 125
- 125
NASAIQ A2HE 50,880 63,000 A12,120
Al 25,440
- 25,440
307 21201 & 50,880 63,000 A12,120
Al 25,440
- 25,440
012z & 3=l 50,880 63,000 A12,120
OMaSAlY AZZ8H| XA
50,880,000 50,880
Al 25,440
- 25,440
dHY2I P (Ad2eln) 219,446 229,246 29,800
el 2| (Hz2elmt) 148,274 140,614 7,660
elIg =3 148,274 140,614 7,660
101 @124H| 148,274 140,614 7,660




SA A2l
B SN2 (AR
Ciel: ol 2oH|(AZ22|t) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 &= 136,839 129,371 7,468
Ozxuz2e=g 136,839
OAIZRZRE
12,5313 +3BA| 2H+26H 123 136,839
02 JIet&R 2= 11,435 11,243 192
Oxl=22=¢ 11,435
OAIZAZ R4 (&I M=)
14,6922 +30A| 2+ 1H* 123 6,171
QAIZAZ2E (I M6=)
12,5313 +30A1 2+ 1H* 123 5,264
Jl23gl(HZzen) 71,172 88,632 A17,460
JI23Hl 71,172 88,632 A17,460
201 et 3| 30,852 30,072 780
01 At22t2l] 30,852 30,072 780
OJIZ2 A2/l 21,0008 27 &~ 128 6,804
ogxz 4,560
O=ADI SXZ(ARY)
230,000 «1CH*12& 2,760
OZAD| LX2(2XEHA)
150,000 *1CH* 122 1,800
O=etl 19,488
OS2 Al
8,000 x20 +7A!x 12 19,488
202 048l 36,000 54,240 18,240
01 2L AL 36,000 54,240 18,240
O2U 048l 20,0003 x28H 52« 122 33,600
OZLHOHI(2ER)
10,0003 x 12 *20L « 12& 2,400
203 HR=H] 4,320 4,320
M EAEgER=A 4,320 4,320
O21E24(300l3tH) 400,000& 122 *90% 4,320




